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On	
  Monday,	
  we	
  used	
  FetchData	
  

•  FetchData	
  -­‐s	
  2014,04,18,14,27,26	
  -­‐e	
  2014,04,18,14,57,26	
  -­‐N	
  XB	
  -­‐C	
  "BH?"	
  -­‐
o	
  sweetwaterBH.mseed	
  -­‐m	
  sweetwaterBH.metadata	
  

	
  
•  FetchData	
  -­‐s	
  2014,04,18,14,27,26	
  -­‐e	
  2014,04,18,14,57,26	
  -­‐N	
  XB	
  -­‐C	
  DPZ	
  -­‐o	
  

sweetwaterDPZ.mseed	
  -­‐m	
  sweetwaterDPZ.metadata	
  





Then	
  used	
  ‘mseed2sac’	
  

•  mseed2sac	
  sweetwaterBH.mseed	
  –m	
  
sweetwaterBH.metadata	
  	
  

	
  
•  mseed2sac	
  sweetwaterDPZ.mseed	
  –m	
  
sweetwaterDPZ.metadata	
  	
  



SAC	
  commands	
  

r	
  *SAC	
  
rmean	
  
rtr	
  
taper	
  
decimate	
  5	
  filter	
  on	
  	
  	
  

The	
  broadband	
  sta:ons	
  operate	
  at	
  20	
  sps.	
  
The	
  nodes	
  operate	
  at	
  500	
  sps.	
  
We	
  want	
  to	
  make	
  the	
  two	
  types	
  of	
  sta:ons	
  the	
  same	
  sample	
  rate.	
  



We	
  have	
  BH?	
  channels!	
  

You	
  can	
  try	
  these	
  steps	
  
	
  
OR	
  
	
  

You	
  can	
  download	
  from	
  the	
  ‘Agenda’	
  tab	
  
(Sweetwater.zip)	
  



Let’s	
  Build	
  a	
  GMV!	
  



All	
  informa:on	
  in	
  README,	
  but	
  important	
  
	
  
{INSTALL_DIR}/IRIS_DMC_GMV/matTaup/lib/matTaup.jar	
  

	
  to	
  	
  
{MATLAB_DIR}/toolbox/local/classpath.txt	
  
	
  
Place	
  the	
  IRIS_DMC_GMV.zip	
  in	
  your	
  {INSTALL_DIR}	
  
– Contains	
  Sweetwater	
  data	
  in	
  SAC	
  files	
  
– Contains	
  a	
  file	
  called	
  event.asc	
  
– Both	
  are	
  in	
  the	
  ‘data’	
  directory	
  

–  In	
  the	
  ‘bin’	
  directory,	
  we	
  want	
  to	
  run	
  
GMV_Sweetwater.m,	
  which	
  will	
  call	
  ‘event.asc’	
  



What’s	
  in	
  event.asc?	
  



As	
  this	
  stands…	
  it	
  doesn’t	
  work!	
  

•  Spend	
  10-­‐15	
  minutes	
  gelng	
  a	
  sense	
  of	
  what	
  
the	
  GMV	
  is	
  doing	
  

•  Do	
  NOT	
  change	
  the	
  GMV_Sweetwater.m	
  file,	
  
as	
  this	
  part	
  does	
  work!	
  

•  Change	
  the	
  event.asc,	
  and	
  play	
  around	
  with	
  
different	
  ways	
  to	
  look	
  at	
  the	
  data	
  

•  HINT:	
  You	
  may	
  want	
  to	
  look	
  at	
  the	
  broadband	
  
and	
  nodal	
  data	
  separately	
  to	
  compare	
  


